

# OCTOBER 13, 2024 THE SECOND ANNUAL GOTH BAR

BUILT WITH COMMUNITY  $\cdot$  2024 FUNDING ASK —



### WHY GIVEP

SEATTLE'S GOTH BAR IS A CELEBRATION OF THE CREATIVE COMMUNITY AND THE POWER OF ART AND RITUAL TO BRING US CLOSE. IT'S A SAFE, INCLUSIVE SPACE TO EXPLORE THE BEAUTY OF DARKNESS AND SHARED EMBODIMENT.

As Goth Bar is still an emerging event, we are seeking financial assistance to adequately fund our creative community and help build a sustainable event for years to come.

Sponsorship levels are suggestions—we're open to all levels of support, including in-kind donations and gifts of time.



### PERKS

### WHEN IT COMES TO OUR PARTNERS' PRIORITIES AND DESIRES, WE KNOW ONE SIZE DOESN'T FIT ALL.

We invite donors to engage with Laara to determine what feels right for you. Examples of thank-you gifts include:

- Event tickets
- VIP lounge access
- Bespoke gifts from the event
- Other delights TBD ;)

Shout–outs on our social channels and marketing materials



## 

We are looking to hire & support Seattle performance artists including:

- Shibari
- Dominatrix
- Gogo Dancers
- Event Hosts

SUGGESTED DONATION

Tier 1: \$5000 Tier 2: \$2500 Tier 3: \$1000





# MENU DEVELOPMENT

- Bespoke Goth Bar cocktails
- Craft Bartenders
- Seasonal Ingredients
- Chef-Curated Fall Bites

SUGGESTED DONATION

Tier 1: \$1500 Tier 2: \$750 Tier 3: \$500

Total Funding Goal: \$1500

## We are looking to hire & create an experience around:

×, 4





## NSTALLATION + DECOR

We are looking to hire & create an experience around:

 Featured Artists: Kem C, Creep Creature, Buy Hot Lunch

 Goth Bar handmade candles, and artisanal giveaways

SUGGESTED DONATION

Tier 1: \$5000 Tier 2: \$2500 Tier 3: \$1000 





- Massive Capitol Hill
- Three Floors
- Airbnb Rental for: Green Room, VIP, After Party

### SUGGESTED DONATION

Tier 1: \$2000 Tier 2: \$1500 Tier 3: \$500

Total Funding Goal: \$2000

## VENUE RENTAL





## MANAGENENT

We need support to hire and sustain our incredible event management team.

- Event production
- Operating costs
- Marketing & Design
- Accouting

### SUGGESTED DONATION

Tier 1: \$5000

Tier 2: \$3500

Tier 3: \$2000





## CREATIVE TECHNOLOGY

We are looking to hire digital artists and

 Artists include: Death Milk Design, Joshua Borsman, Art by Sabine, Murkury Studios

SUGGESTED DONATION

Tier 1: \$5000 Tier 2: \$2500 Tier 3: \$1000

Total Funding Goal: \$5000

## technologists to project 3D interactive visuals.





## 

We are looking to hire 3-4 DJs for our main event & afters.

### Currently booking:

- DJ Reptile
- DJ Gold Chisme

### SUGGESTED DONATION

Tier 1: \$1500 Tier 2: \$1000 Tier 3: \$500





## CARNIVOROUS PLANTS

### We are dreaming up a surreal, living centerpiece art installation.

Live Carnivorous Plant Installation

### SUGGESTED DONATION

Tier 1: \$1500 Tier 2: \$1000 Tier 3: \$500





# SEE YOU AT THE ALTAR. SUNDAY, OCTOBER 13th.

Thank you for making Seattle art experiences like this possible.

Contact: Laara Garcia laaragarcia23@gmail.com (951) 202 - 3141





www.goth.bar



